
Article overview

V 111110

ConSole, ConSole +
TriSole

From visions to solutions
Technical changes, mistakes and printing errors excepted.

VarioSole SE , VarioSole DS
MetaSole



Article Description Article No.

MetaSole sheet thickness from 0,40mm PU 1PCS
420076

Composed of: PU 40PCS
1 x MetaSole Clamp base 125mm with EPDM 460080
2 x Self drilling screw EJOT JT3‐X‐2‐6,0x25 A16/2 PU 260

460138 

PU 520PCS 
460088

MetaSole sheet thickness from 0,75mm PU 1PCS
420077

Composed of: PU 40PCS
1 x MetaSole Clamp base 125mm with EPDM 460089
2 x Self drilling screw SFS‐SDK2‐S‐377‐ 6,0x35 PU 260 PCS

460139

PU 520PCS 
460090

MetaSole sheet thickness from 0,40mm

MetaSole sheet thickness from 0,75mm

METASOLE

Self drilling screw EJOT JT3‐X‐2‐6,0x25 A16/2

Composed of:

20 x Self drilling screw EJOT JT3‐X‐2‐6,0x25 A16/2, PACK(20pc.) PU 20PCS

460086

Self drilling screw SFS‐SDK2‐S‐377‐ 6,0x35

Composed of:

20 x Self drilling screw SFS‐SDK2‐S‐377‐ 6,0x35, PACK(20pc.) PU 20PCS

460087

Self drilling screw SFS‐SDK2‐S‐377‐ 6,0x35

Self drilling screw EJOT JT3‐X‐2‐6,0x25 
A16/2

From visions to solutions
Page

2From visions to solutions 2



METASOLE
Article Description Article No.

Attachment DS‐K 265

Composed of:
SFS‐SDK2‐S‐377‐ 6,0 x 35 PU 1PCS

999900

Middle clamp 32‐51mm PU 1PCS
400019

PU 40PCS
460011

PU 400PCS 
460132

Attachment DS‐K 265

Middle clamp 32‐51mm

End Clamp 34‐51mm PU 1PCS
400000

PU 10PCS
460005

PU 300PCS 
460131

End clamp 31mm

Composed of:

10 x End Clamp 31mm PU 10PCS

460009

End Clamp 34‐51mm

End clamp 31mm

From visions to solutions
Page

3From visions to solutions 3



METASOLE
Article Description Article No.

Middle clamp 32‐51mm Black
PU 1PCS
430019

PU 40PCS 
490011

End Clamp 34‐51mm Black
PU 1PCS
430000

PU 10PCS 
490005

Middle clamp 32‐51mm Black

End Clamp 34‐51mm Black

From visions to solutions
Page

4From visions to solutions 4



Article Description Article No.

Variosole Aluminium roof hook
PU 1PCS

Composed of: 860005
1 x VarioSole Aluminium roof hook

1 x Hammerhead bolt M8x25
1 x Hex.Nut w. serration M8

1 x Wood screw mushroom head 6x80 PU 20PCS 
860001

VarioSole Roof hook Alu Concrete Basic 90°, 
For Italian roof tiles PU 1PCS
Composed of: 920003
1 x VarioSole Roof hook Concrete

1 x Hammerhead bolt M8x25

1 x Hex. Nut w. serration M8
PU 20PCS
960024

VarioSole Roof hook Alu Concrete Basic 90°, 

Roof Hooks VARIOSOLE

Variosole Aluminium roof hook

VarioSole Roof hook for plain tiles Standard
PU 1PCS

Composed of: 920062
1 x VarioSole Roof hook for plain tiles Standard

1 x hammerhead bolt M8x25

1 x Hex.Nut w. serration M8
2 x Wood screw mushroom head 6x80 PU 20PCS 

960062

VarioSole Roof hook for slate tiles
PU 1PCS

Composed of: 920005
1 x VarioSole Roof hook for slate tiles

1 x Hammerhead bolt M8x25

1 x Hex.Nut w. serration M8
2 x Wood screw Senkkopf for slate tiles 6x80 PU 20PCS

960005

VarioSole Roof hook for slate tiles

VarioSole Roof hook for plain tiles Standard

From visions to solutions
Page

5From visions to solutions 5



Article Description Article No.

VarioSole stainless steel roof hook
PU 1PCS

Composed of: 460066
1 x VarioSole stainless steel roof hook

1 x Hammerhead bolt M8x25
1 x Hex.Nut w. serration M8

1 x Wood screw mushroom head 6x80 PU 20PCS
460026

180X54 mm                     
VarioSole Roof Hook stainless steel TR PU 1PCS
For Italian roof tiles 420099
Composed of:

1 x VarioSole Roof Hook stainless steel TR
1 x Hexagon nut DIN 6923 M8‐A2‐70

1 x Hammerhead bolt M8x25 PU 20PCS
3 x Wood screw mushroom head 6x80 460124

VarioSole Roof Hook stainless steel TR

Roof hooks VARIOSOLE

VarioSole stainless steel roof hook

180X54 mm                     
VarioSole Roof Hook stainless steel TM PU 1PCS
For Italian roof tiles 420101
Composed of:

1 x VarioSole Roof Hook stainless steel TM

1 x Hexagon nut DIN 6923 M8‐A2‐70
1 x Hammerhead bolt M8x25 PU 20PCS 
3 x Wood screw mushroom head 6x80 460123

180X54 mm                     
VarioSole Roof Hook stainless steel TP PU 1PCS
For Italian roof tiles 420100
Composed of:

20 x VarioSole Roof Hook stainless steel TP

20 x Hexagon nut DIN 6923 M8‐A2‐70
20 x Hammerhead bolt M8x25 PU 20PCS
3 x Wood screw mushroom head 6x80 460125

VarioSole Roof Hook stainless steel TM

VarioSole Roof Hook stainless steel TP

From visions to solutions
Page

6From visions to solutions 6



Article Description Article No.

200X30mm                     
VarioSole Roof Hook stainless steel Concrete Basic PU 1PCS
For Italian roof tiles 420098
Composed of:

1 x VarioSole Roof Hook stainless steel Concrete Basic

1 x Hexagon nut DIN 6923 M8‐A2‐70
1 x Hammerhead bolt M8x25 PU 20PCS

460126

135X30 mm                     
VarioSole Roof Hook stainless steel Concrete TR PU 1PCS
For Italian roof tiles 420095
Composed of:

1 x VarioSole Roof Hook stainless steel Concrete TR
1 x Hexagon nut DIN 6923 M8‐A2‐70

1 x Hammerhead bolt M8x25 PU 20PCS 
460128

Roof Hooks VARIOSOLE

VarioSole Roof Hook stainless steel 
Concrete Basic

VarioSole Roof Hook stainless steel 
Concrete TR

135X30 mm                     
VarioSole Roof Hook stainless steel Concrete TM PU 1PCS
For Italian roof tiles 420096
Composed of:

1 x VarioSole Roof Hook stainless steel Concrete TM

1 x Hexagon nut DIN 6923 M8‐A2‐70
1 x Hammerhead bolt M8x25 PU 20PCS 

460127

135X30 mm                     
VarioSole Roof Hook stainless steel Concrete TP PU 1PCS
For Italian roof tiles 420097
Composed of:

1 x VarioSole Roof Hook stainless steel Concrete TP

1 x Hexagon nut DIN 6923 M8‐A2‐70
1 x Hammerhead bolt M8x25 PU 20PCS 

460129

VarioSole Roof Hook stainless steel 
Concrete TP

VarioSole Roof Hook stainless steel 
Concrete TM

From visions to solutions
Page

7From visions to solutions 7



Article Description Article No.

200X30mm                     
VarioSole Roof Hook stainless steel Concrete DC PU 1PCS
For Italian roof tiles 420094
Composed of:

1 x VarioSole Hook concrete DC Mounting Bracket

1 x VarioSole DC U‐Hook
2 x Hexagon nut DIN 6923 M8‐A2‐70 PU 20PCS
1 x Hammerhead bolt M8x25 460130
1 x Hexag. Flange bolt with serration M8x25‐A2‐70

VarioSole Hanger bolt 10x200
PU 1PCS

Composed of: 860006
1 x VarioSole Hanger bolt M10x200

1 x VarioSole Bracket M10
1 x Hammerhead bolt M8x25

1 x Hex.Nut w. serration M8 PU 20PCS 
860002

VARIOSOLE

VarioSole Roof Hook stainless steel 
Concrete DC

VarioSole Hanger bolt 10x200

VarioSole Hanger bolt 12x250
PU 1PCS

Composed of: 860007
1 x VarioSole Hanger bolt M12x250

1 x VarioSole Bracket M12

1 x Hammerhead bolt M8x25
1 x Hex.Nut w. serration M8 PU 20PCS 

860003

VarioSole Hanger bolt 12x300
PU 1PCS

Composed of: 860017
1 x VarioSole Hanger bolt M12x300

1 x VarioSole Bracket M12

1 x Hammerhead bolt M8x25
1 x Hex.Nut w. serration M8 PU 20PCS 

900039

VarioSole Hanger bolt 12x250

VarioSole Hanger bolt 12x300

From visions to solutions
Page

8From visions to solutions 8



Article Description Article No.

VarioSole Hanger bolt 12x350
PU 1PCS

Composed of: 920136
1 x VarioSole Hanger bolt M12x350

1 x VarioSole Bracket M12
1 x Hammerhead bolt M8x25

1 x Hex.Nut w. serration M8 PU 20PCS 
960136

VarioSole Hanger bolt 12x400
PU 1PCS

Composed of: 920137
1 x VarioSole Hanger bolt M12x400

1 x VarioSole Bracket M12

1 x Hammerhead bolt M8x25
1 x Hex.Nut w. serration M8 PU 20PCS 

960137

VarioSole Hanger bolt 12x400

VARIOSOLE accessories

VarioSole Hanger bolt 12x350

VarioSole Bracket M10
PU 1PCS

Composed of: 420014
1 x VarioSole Bracket M10

1 x Hammerhead bolt M8x25
1 x Hex.Nut w. serration M8

PU 20PCS 
460007

VarioSole Bracket M12
PU 1PCS

Composed of: 420012
1 x VarioSole Bracket M12

1 x Hammerhead bolt M8x25

1 x Hex.Nut w. serration M8
PU 20PCS 
460006

VarioSole Bracket M10

VarioSole Bracket M12

From visions to solutions
Page

9From visions to solutions 9



Article Description Article No.

VarioSole Mounting rail SE 3000mm PU 1PCS
400081

Measurements:

49 x 35,4 x 3000 mm PU10PCS
420038

PU 150PCS 
490012

VarioSole Mounting rail SE 3000mm Black PU 1PCS
430009

Measurements:

49 x 35,4 x 3000 mm PU10PCS
490003

PU 150PCS 
490004

VARIOSOLE SE Mounting rails

VarioSole Mounting rail SE 3000mm

VarioSole Mounting rail SE 3000mm Black

Mounting rail Aluminium 3200mm

Measurements:

49 x 35,4 x 3200 mm PU 150PCS

460137

VarioSole Mounting rail SE custom tailored /m
PU 1PCS
400094

VarioSole Mounting rail SE Black custom tailored /m
PU 20PCS 
490018

VarioSole Mounting rail SE custom tailored 
/m

VarioSole Mounting rail SE Black custom 
tailored /m

Mounting rail Aluminium 3200mm

From visions to solutions
Page

10From visions to solutions 10



Article Description Article No.

VarioSole Mounting rail SE 60x37,4x3000mm
PU 1PCS

Measurements: 400163
60 x 37,4 x 3000 mm

PU 140PCS 
490020

VarioSole Rail connector with rivet
PU 1PCS
400026

PU 20PCS 
920026

VarioSole Rail connector with rivet

VARIOSOLE SE Mounting rails

VarioSole Mounting rail SE 
60x37,4x3000mm

VarioSole Connector for rail 60x37,4mm
PU 1PCS

Measurements: 400165
VarioSole Connector for rail 60x37,4mm

PU 20PCS 
460102

VarioSole Connector for rail 60x37,4mm

From visions to solutions
Page

11From visions to solutions 11



Article Description Article No.

Middle clamp 32‐51mm PU 1PCS
400019

One body

PU 40PCS
460011

PU 400PCS 
460132

End Clamp 34‐51mm PU 1PCS
400000

One body

PU 10PCS
460005

PU 300PCS 
460131

VARIOSOLE SE accessories

Middle clamp 32‐51mm

Morsetto terminale per moduli con cornice 
standard regolabile 32‐51mm

Middle clamp 32‐51mm Black
PU 1PCS

One body 430019

PU 40PCS 
490011

End Clamp 34‐51mm Black
PU 1PCS

One body 430000

PU 10PCS 
490005

Morsetto intermedio nero per moduli con 
cornice standard regolabile 34‐51mm

Morsetto terminale nero per moduli con 
cornice standard regolabile 34‐51mm

From visions to solutions
Page

12From visions to solutions 12



Article Description Article No.

End clamp 31mm

One body
PU 10PCS

460009

Connettore per incrociare i profili VarioSole Cross rail connector
PU 1PCS

One body 400027

PU 20PCS 
460008

Morsetto terminale per moduli con cornice 
standard di altezza 31mm

VARIOSOLE SE accessories

VarioSole Cross rail connector Black
PU 1PCS

One body 430027

PU 20PCS 
490008

VarioSole connettore per incrociare i profili 
colore NERO

From visions to solutions
Page

13From visions to solutions 13



Article Description Article No.

Morsetto intermedio per moduli senza  Middle clamp for laminates 7mm
PU 1PCS

One body 400054

PU 40PCS 
460054

End clamp for laminates 7mm
PU 1PCS

One body 400053

PU 5PCS 
460053

Morsetto terminale per moduli senza 
cornice 7mm 

VARIOSOLE SE accessories

From visions to solutions
Page

14From visions to solutions 14



Article Description Article No.

VarioSole End Cap RIGHT/LEFT grey
PU 10PCS

Composed of: 460079
10 x VarioSole End cap LEFT grey 10sx+10dx
10 x Variosole End cap RIGHT grey

PU 50PCS 
460084

50sx+50dx

VarioSole End Cap RIGHT/LEFT black
PU 10PCS

Composed of: 460078
10 x VarioSole End cap LEFT black 10sx+10dx
10 x Variosole End cap RIGHT black

PU 50PCS 
460083

50sx+50dx

VarioSole accessories

VarioSole End Cap RIGHT/LEFT grey

VarioSole End Cap RIGHT/LEFT black

Hexag. Bolt M6x20 and Hex. Flange nut M6, 

PU 24PCS

900015

Hammerhead bolt M8x25/Nut w. serration M8

Composed of:

21 x Hex.Nut w. serration M8 PU 21PCS
21 x Hammerhead bolt M8x25

960007

Hexag. Bolt M6x20 and Hex. Flange nut M6, 
PACK(24sets)

Hammerhead bolt M8x25/Nut w. serration 
M8

From visions to solutions
Page

15From visions to solutions 15



Article Description Article No.

VSDS Mounting rail 1324mm w/EPDM

Composed of:
1 x VSDS mounting rail 1324mm PU 1PCS
2 x EPDM l‐profile

1 x VSDS antislip, SET(1pce) 460043

VSDS Mounting rail 2648mm w/EPDM

Composed of:

1 x VSDS Mounting rail 2648mm PU 1PCS
4 x EPDM l profile

2 x VSDS antislip, SET(1pcs.) 460042

VARIOSOLE DS Mounting rails

VSDS Mounting rail 1324mm w/EPDM

VSDS Mounting rail 2648mm w/EPDM

VSDS Mounting rail 3972mm w/EPDM

Composed of:

1 x VSDS Mounting rail 3972mm PU 1PCS
6 x EPDM l profile

3 x VSDS antislip, SET(1pcs.) 460041

VSDS Mounting rail 1324mm w/EPDM, PACK(10sets)
PU 10PCS 
460057

PU 100PCS 
460046

VSDS Mounting rail 1324mm w/EPDM, 
PACK(10sets)

VSDS Mounting rail 3972mm w/EPDM

From visions to solutions
Page

16From visions to solutions 16



Article Description Article No.

VSDS Mounting rail 2648mm w/EPDM
PU 10PCS 

Composed of: 460056
10 x VSDS mounting rail 2648mm w/EPDM, SET(1pc.)

PU 100PCS 
460045

VSDS Mounting rail 3972mm w/EPDM
PU 10PCS 

Composed of: 460041
1 x VSDS Mounting rail 3972mm

6 x EPDM l profile
3 x VSDS antislip, SET(1pcs.)

PU 100PCS 
460051

VARIOSOLE DS mounting rails & accessories

VSDS Mounting rail 2648mm w/EPDM

VSDS Mounting rail 3972mm w/EPDM

VSDS rail connector w/rivet
PU 1PCS 
400044

PU 100PCS 
460073

VSDS Clamp profile MIDDLE 1000mm w/EPDM
PU 1PCS 

Composed of: 400062
1 x VSDS Clamp profile MIDDLE 1000mm

2 x EPDM i L‐profile
3 x Hexag screw M8x35

PU 40PCS 
460038

VSDS rail connector w/rivet

VSDS Clamp profile MIDDLE 1000mm 
w/EPDM

From visions to solutions
Page

17From visions to solutions 17



Article Description Article No.

VSDS clamp profile END1000mm w/EPDM
PU 1PCS 

Composed of: 400063
1 x VSDS END clamp profile 1000mm w/EPDM

1 x EPDM L‐Profile
3 x Hexag screw M8x35

PU 20PCS 
460039

Spacer 110x28,5x22mm,
PU 1PCS 
900065

PU 20PCS 
900080

VARIOSOLE DS accessories

VSDS clamp profile END1000mm w/EPDM

Spacer 110x28,5x22mm,

VSDS Bracket
PU 1PCS 

Composed of: 460040
1 x VSDS Bracket

2 x Hammerhead bolt M8x25
2 x Hex. nut w/serration

PU 20PCS 
460050

VSDS Antislip

Composed of:

1 x VSDS Antislip PU 1PCS 
1 x Hexag. screw M8x25

920033

VSDS Bracket

VSDS Antislip

From visions to solutions
Page

18From visions to solutions 18



Article Description Article No.

ConSole 4.1
PU 1PCS

Composed of: 520041
1 x ConSole 4.1

2 x Console Aluminium U‐profile 800mm
1 x Mounting material for 1 ConSole, SET(8pce.)

PU 40PCS
560041

ConSole 4.2
PU 1PCS

Composed of: 520042
1 x ConSole 4.2

2 x Console Aluminium U‐profile 1034mm
1 x Mounting material for 1 ConSole, SET(8pce.)

PU 40PCS
560042

ConSole 4.1

ConSole 4.2

CONSOLE

ConSole 5.2
PU 1PCS

Composed of: 520052
1 x ConSole 5.2

2 x Console Aluminium U‐profile 1034mm
1 x Mounting material for 1 ConSole, SET(8pce.)

PU 40PCS
560052

ConSole 6.2
PU 1PCS

Composed of: 520062
1 x ConSole 6.2

2 x Console Aluminium U‐profile 1034mm
1 x Mounting material for 1 ConSole, SET(8pce.)

PU 40PCS
560062

ConSole 5.2

ConSole 6.2

From visions to solutions
Page

19From visions to solutions 19



Article Description Article No.

ConSole +
PU 1PCS

Composed of: 520070
1 x ConSole +

2 x ConSole 4.2‐6.2 Aluminium U‐profile 1035 m
1 x Mounting material for 1 pc CS, SET (8pce.)

PU 40PCS
560070

Streamliner + PU 1PCS
520071

Composed of:

1 x streamliner + PU 10PCS
1 x Selfdrill.Screw mushroom head‐ 530071
4.8x16‐A2‐70, SET(8pce.)

PU 40PCS 
560071

ConSole +

Streamliner +

CONSOLE + (components & accessories)

From visions to solutions
Page

20From visions to solutions 20



Article Description Article No.

ConSole 4.1 aluminium U‐profile 800mm per 1 ConSole

PU 2PCS
Composed of: 420054
2 x ConSole Aluminium U‐profile 800mm

1 x Mounting material for 1 ConSole, SET(8pce.)
per 40 ConSole

PU 80PCS
400096

ConSole 4.2‐6.2 aluminium U‐profile 1,035mm per 1 ConSole

PU 2PCS
Composed of: 420055

2 x ConSole Aluminium U‐profile 1035mm

1 x Mounting material for 1 ConSole, SET(8pce.)
per 40 ConSole

PU 80PCS
400097

CONSOLE accessories

ConSole 4.1 aluminium U‐profile 800mm

ConSole 4.2‐6.2 aluminium U‐profile 1,035mm

Mounting material for 1 ConSole

Composed of:
8 x Hexag. Screw M6x20 PU 1PCS
8 x Plain washer M6

8 x Nut M6 460022

Elongationset rail for 1 ConSole

Composed of:

2 x Elongation rail ConSole PU 1PCS
4 x Hexag. Screw M6x20

4 x Plain washer DIN125‐6A2 460001
4 x Nut M6

Elongationset rail for 1 ConSole

Mounting material for 1 ConSole

From visions to solutions
Page

21From visions to solutions 21



Article Description Article No.

ConSole mounting material for extension rail set

PU 1PCS

460000

Hexagon screw DIN933‐M8x 16‐A2‐70, PU(160pcs)
PU 1PCS
960032

Hexagon nut ISO 4032 ‐ MB A2‐70, PU(160pcs)
PU 20PCS 
960036

CONSOLE accessories

ConSole mounting material for extension 
rail set

Hexagon screw DIN933‐M8x 16‐A2‐70, 
PU(160pcs)

Hexagon nut ISO 4032 ‐ MB A2‐70, 
PU(160pcs)

From visions to solutions
Page

22From visions to solutions 22



TRISOLE components
Article Description Article No.

TriSole Adjustable triangular mounting system       20‐
30°,

PU 1PCS 
Composed of: 420015
1 x TriSole Adjustable triangular mounting system 20‐30°

4 x Cross rail connector AK, l=40

PU 40PCS 
460136

TriSole Cross striving profile complete PU 1PCS
420016

Composed of:

2 x TriSole Cross striving profile PU 20PCS
4 x Hammerhead bolt M8x25 420017

PU 40PCS 
460104

TriSole Adjustable triangular mounting 
system       20‐30°,

TriSole Cross striving profile complete

VarioSole Mounting rail SE 60x37,4x3000mm
PU 1PCS

Measurements: 400163
60 x 37,4 x 3000 mm

PU 140PCS 
490020

VarioSole Connector for rail 60x37,4mm
PU 1PCS

Composed of: 400165
20 x VarioSole Connector for rail 60x37,4mm

PU 20PCS 
460102

VarioSole Mounting rail SE 
60x37,4x3000mm

VarioSole Connector for rail 60x37,4mm

From visions to solutions
Page

23From visions to solutions 23



Article Description Article No.

Middle clamp 32‐51mm PU 1PCS
400019

One body

PU 40PCS
460011

PU 400PCS 
460132

End Clamp 34‐51mm PU 1PCS
400000

One body

PU 10PCS
460005

PU 300PCS 
460131

TRISOLE components

Middle clamp 32‐51mm

End Clamp 34‐51mm

460131

VarioSole Cross rail connector
PU 1PCS

One body 400027

PU 20PCS 
460008

VarioSole Cross rail connector

From visions to solutions
Page

24From visions to solutions 24


